



\$1,113.00

St. Louis County, Minnesota

Date of Report: 7/6/2025 11:31:28 AM

		0 15.1							
		General Detai	IS						
Parcel ID:	400-0010-05070								
		Legal Description	Details						
Plat Name:	INDUSTRIAL	INDUSTRIAL							
Section	Town	ship Rang	Lot	Block					
29	51	l 17		-	- !				
Description:	NE 1/4 OF SE 1/	4							
Taxpayer Details									
Taxpayer Name	Taxpayer Name RAETHER DONALD & MARILYN								
and Address:	4955 AUNE RD								
		Owner Detail	S						
Owner Name	RAETHER DONA	ALD M ETUX							
		Payable 2025 Tax Si	ummary						
	2025 - Net Ta	ax		\$2,141.00					
	2025 - Specia	al Assessments		\$85.00					
	2025 - Total Tax & Special Assessments \$2,226.00								
Current Tax Due (as of 7/5/2025)									
Due May 15 Due November 15									
2025 - 1st Half Tax	\$1,113.00	2025 - 2nd Half Tax	\$1,113.00	2025 - 1st Half Tax Due	\$0.00				
2025 - 1st Half Tax Paid	\$1,113.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,113.00				

Parcel Details

\$1,113.00

2025 - Total Due

2025 - 2nd Half Due

Property Address: 4955 AUNE RD, SAGINAW MN

\$0.00

School District: 2142
Tax Increment District: -

2025 - 1st Half Due

Property/Homesteader: RAETHER, MARILYN

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
101	1 - Owner Homestead (100.00% total)	\$49,400	\$336,100	\$385,500	\$0	\$0	-			
108	0 - Non Homestead	\$1,900	\$7,600	\$9,500	\$0	\$0	-			
800	0 - Non Homestead	\$100	\$0	\$100	\$0	\$0	-			
	Total: \$51,400 \$343,700 \$395,100 \$0 \$0 3401									





St. Louis County, Minnesota

Date of Report: 7/6/2025 11:31:28 AM

Land Details

Deeded Acres: 40.00

Waterfront: UNNAMED (29-51-17)

Water Front Feet: 1160.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width

Lot Width:	0.00								
Lot Depth:	0.00								
The dimensions shown are	e not guaranteed to be sur	ey quality.	Additional lot	information can be	e found at				
https://apps.stlouiscountyr	mn.gov/webPlatsIframe/frm				ions, please email PropertyTa	x@stlouiscountymn.gov.			
		Impro	vement 1	Details (HSE)					
Improvement Type	Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	1960	1,3	92	1,392	AVG Quality / 696 Ft ²	RAM - RAMBL/RNCH			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	29	48	1,392	WALKOUT BASEMENT				
DK	1	6	48	288	POST ON GR	OUND			
Bath Count	Bedroom Cour	t	Room C	Count	Fireplace Count	HVAC			
1.75 BATHS	2 BEDROOMS		-		- (CENTRAL, PROPANE			
	I	mproven	nent 2 Det	ails (GAR/SHC	OP)				
Improvement Type	Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
POLE BUILDING	2014	1,1	76	1,176	-	-			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	24	49	1,176	FLOATING SLAB				
	l,	nnrovem	ent 3 Det	ails (POLE BLI	DG)				
Improvement Type	Year Built	Main Fl		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
POLE BUILDING	O	5,5		5,500	Dasement rinish	Style Code & Desc.			
Segment	Story	Width	Length	<u> </u>	Foundation	- n			
BAS	3 (6) y	50	110	5,500	POST ON GR				
DAO	·			,		OOND			
		proveme	nt 4 Detai	is (BROWN BA	ARN)				
Improvement Type	Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
BARN	0	2,9	28	3,660	-	-			
Segment	Story	Width	Length	Area	Foundation	on			
BAS	1	16	61	976	FLOATING SLAB				
BAS	1.7	16	61	976	FLOATING S	SLAB			
	Im	proveme	ent 5 Deta	ils (MOBILE H	OM)				
Improvement Type	Year Built	Main Fl		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
MANUFACTURED HOME	1975	67	72	672	-	SGL - SGL WIDE			
Segment	Story	Width	Length	Area	Foundation	on			
BAS		14	48	672	POST ON GROUND				
DAS	1	14	40	012	1 001 011 011	COND			
Bath Count	Bedroom Cour	• •	Room C		Fireplace Count	HVAC			





St. Louis County, Minnesota

Date of Report: 7/6/2025 11:31:28 AM

	Improvement 6 Details (46X74)									
Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.					
POLE BUILDING	0	3,404 3,404		-	-					
Segment	Story	Width	Length	Area	Foundation					
BAS	1	46	74	3,404	POST ON GI	ROUND				
	Improvement 7 Details									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
POLE BUILDING	0	1,5	36	1,536						
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	32	48	1,536	POST ON GROUND					
	Improvement 8 Details (CONEX)									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	32	0	320	-					
Segment	Story	Width	Length	Area	Foundation					
BAS	1	8	20	160	POST ON GI	ROUND				
Improvement 9 Details (PATIO)										
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
	0	56	4	564	-	PAV - PAVERS OVR				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	0	12	47	564	-					
	Sala	s Ranortad	to the St	Louis County	Auditor					

Sales Reported to the St. Louis County Auditor

No Sales information reported.

		As	sessment Histo	ry			
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
	101	\$47,500	\$305,000	\$352,500	\$0	\$0	-
	108	\$1,800	\$6,900	\$8,700	\$0	\$0	-
2024 Payable 2025	800	\$100	\$0	\$100	\$0	\$0	-
	Total	\$49,400	\$311,900	\$361,300	\$0	\$0	3,064.00
	101	\$46,100	\$305,000	\$351,100	\$0	\$0	-
	108	\$1,800	\$6,900	\$8,700	\$0	\$0	-
2023 Payable 2024	800	\$100	\$0	\$100	\$0	\$0	-
	Total	\$48,000	\$311,900	\$359,900	\$0	\$0	3,159.00
	101	\$61,600	\$259,900	\$321,500	\$0	\$0	-
	108	\$2,600	\$6,000	\$8,600	\$0	\$0	-
2022 Payable 2023	800	\$0	\$0	\$0	\$0	\$0	-
	Total	\$64,200	\$265,900	\$330,100	\$0	\$0	2,777.00
2021 Payable 2022	101	\$61,600	\$225,200	\$286,800	\$0	\$0	-
	108	\$2,600	\$5,200	\$7,800	\$0	\$0	-
	800	\$0	\$0	\$0	\$0	\$0	-
	Total	\$64,200	\$230,400	\$294,600	\$0	\$0	2,421.00





St. Louis County, Minnesota

Date of Report: 7/6/2025 11:31:28 AM

Tax Detail History									
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV			
2024	\$2,539.00	\$85.00	\$2,624.00	\$47,134	\$300,842	\$347,976			
2023	\$2,227.00	\$85.00	\$2,312.00	\$62,752	\$251,978	\$314,730			
2022	\$2,117.00	\$85.00	\$2,202.00	\$62,270	\$214,323	\$276,593			

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.